—

LIMITE DE FUNCTII
(raspunsuri)

.a)5;b)1;¢) —wo;d) —o.

2. a) f(x)=[x], g(x)=—x];

RENS)

7.

8.

9.

b) f:R\$3} >R, f(x)zi;

¢) f:R—>R, f(x)=sinx;

d) f,e:R>R, f(x)=x21+1, g(x)z(xzil)z.

. a) adevarat; b) fals; c) adevarat; d) fals.
. a)nu; b) nu; ¢) nu (in 1), da (in 3).

ca) f(2-0)=—0, f(-2+0)=00, f(2-0)=—, f(2+0)=o0;

B 0=, f1+0)=0, f2-0)=1, /@ +0)=-1;
¢) f(2-0)=0, f(2+0)=c0;
/4 % 4 _
d) f(Z—OJ— ,f(4+0j 0.
.a)O;b)oo;c)%;d) 14.
a)%;b)nuexisté;c) I;d)-1;e) —%;f)%;g)g;h)l;i) —%.

51 49 1 1
—;b)—3;0)1;d) =;e) ——; ) 6.
Q) 2 ib) o) Lid) Sie) i

a)3;b) 4In2;c¢)5;d)—2;e) —%,f) Je;g) e’ h)l.

10. a) a=-1, b=4;

11.

b) a=1, b=-4;
c) a=4,b=-5;
d) b=a-1,aecR.
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